R Tl E ST T OusamEK R R E Bk H) BT
B H g KBS FBRAE 4730 5H7H 6 10H 7H8H 81 13H 9H9H 10H7H 1150 12/19H LHTH 2 12H 3H9H jEoN /Ml P
X " C ) 10.8 16.4 21.0 22.9 21.8 26.8 23.8 18.4 12.2 10.1 8.9 10.6 21.8 8.9 17.5
— & M W (E % /m) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
W il AR ARt AR R AR R AR R AR R AR R AR
ARITAKEOZEDONAED =0.003 0.0003 < < < < < < < < < < < < < < <
K E O 2 0o bt & P =0.0005 0.00005 — — < — — < — — < — — < < < <
tLr vy kOO AED =0.01 0.001 < < < < < < < < < < < < < < <
h kK O £ o b & B =0.01 0.001 < < < < < < < < < < < < < < <
x E #E K O E O LAY =0.01 0.001 < < < < < < < < < < < < < < <
AN fli 7 v A &b A& B =0.05 0.001 < < < < < < < < < < < < < < <
o M o = & =0.04 0.004 < < < < < < < < < < < < < < <
VT UE A A v R O Y 7| =0.01 0.001 — — < — — < — — < — — < < < <
3 EE ARG ST =10 0.02 0.47 0.45 0.45 0.49 0.39 0.46 0.50 0.45 0.53 0.57 0.52 0.49 0.57 0.39 0.48
7 v E E B®E 0L AED =0.8 0.05 < < < < < < < < < < < < < < <
AU FE K O®EOMLAED 1.0 0.1 < < < < < < < < < < < < < < <
] bo 1t R ES =0.002 0.0002 < < < < < < < < < < < < < < <
H 4= v F * ¥ v =0.05 0.005 < < < < < < < < < < < < < < <
LAl 2-vrmzFLL KONy A1 2-vsmazFiy| 0,04 0.004 < < < < < < < < < < < < < < <
Y s/ wm o om X K v =0.02 0.001 < < < < < < < < < < < < < < <
F N% Z muw x FL v =0.01 0.001 < < < < < < < < < < < < < < <
KY 7 B oo o F L v =0.01 0.001 < < < < < < < < < < < < < < <
~ 2 + v =<0.01 0.001 < < < < < < < < < < < < < < <
H ES 23 =0.6 0.06 — — < < — < — — < < — < < < <
> 7 s S 3 =0.02 0.002 = = < = = < = = < = i < < < <
s m wm K N A =0.06 0.001 0.002 0.002 0.007 0.002 0.005 0.004 0.005 0.002 0.001 0.001 < 0.001 0.007 < 0.003
Yy 7 m o [ B =0.03 0.002 — — < — — < — — < — — < < < <
Y 7 m ® s uowu AL v =0.1 0.001 < < 0.001 0.001 0.002 0.001 0.001 0.001 0.001 < 0.001 0.001 0.002 < <
= ES 3 =0.01 0.001 — — < < — < — — < < -— < < < <
-3 NI RN S S Y =0.1 0.002 0.004 0.004 0.011 0.005 0.010 0.008 0.008 0.005 0.003 0.002 0.002 0.003 0.011 0.002 0.005
N YU o m o om R =0.03 0.002 — — 0.006 — — 0.003 — — < — — < 0.006 < 0.002
. 7 m ® ¥ s owoum A H v =0.03 0.001 0.002 0.002 0.003 0.002 0.003 0.003 0.002 0.002 0.001 0.001 0.001 0.001 0.003 0.001 0.002
* 7 v E K L A =<0.09 0.001 < < < < < < < < < < < < < < <
A v A T L F B R =0.08 0.005 — — < — — < — — < — — < < < <
o kK 2 ot A& DY =1.0 0.01 < < < < < < < < < < < < < < <
TNAHNIZU LR OZOED =0.2 0.01 < < 0.02 0.01 0.02 0.02 0.01 0.01 < < < < 0.02 < <
% kK O £ o & & B =0.3 0.01 < < < < < < < < < < < < < < <
MOk O E o kb AW 1.0 0.01 < < < < < < < 0.01 < < < < 0.01 < <
FThrRIDAR UV ZOWHAED =200 0.1 4.8 4.9 5.2 5.1 5.3 5.1 5.5 5.3 BB 15 5.6 5.3 5.6 4.8 5.3
H|~YyH o O Zofdad D =0.05 0.005 < < < < < < < < < < < < < < <
W ot ®m 14 F v =200 0.1 5.5 5.3 5.7 5.1 5.2 4.9 5.2 5.1 5.2 5.9 6.0 5.3 6.0 4.9 5.4
HNT T BT R N JE ) =300 1 33 33 33 35 35 34 36 35 36 36 37 35 37 33 35
& % 7% # L7} =500 1 56 52 56 62 62 62 64 65 60 56 63 58 65 52 60
e 4 4 > Bom i A =0.2 0.02 -— — < — — < — — < — — < < < <
Y = F A I v =<0.00001 | 0.000001 < < < < < < < < < < < < < < <
2- A F L A4 Y KR )L F A — | £0.00001 | 0.000001 < < < < < < < < < < < < < < <
H A A v R omE E A =0.02 0.005 — — < — — < — — < — — < < < <
7 = J — L H =0.005 0.0005 — — < — — < — — < — — < < < <
Y% (& A R ETOC &) =3 0.2 0.4 < 0.4 < 0.3 0.2 0.2 < < < < < 0.4 < <
pH it 5.8~8.6 7.1 7.1 7.2 7.0 7.2 7.1 7.1 7.1 7.0 7.0 7.0 7.0 7.2 7.0 7.1
S HETROD Bl | BEaL | BEAeL | BEel | BEAL | BEAL | BEARL | BEARL | BEARL | BEAel | BElel | BEL
= kS HHE TR AL | BEaL ) BERL | BEARL | BEARL | BEAL | BEARL | BEARL | BERL | BERL | BEeL | BEL
&) EOC E ) =5 0.5 < < < < < < < < < < < < < < <
) o E ) =2 0.2 < < < < < < < < < < < < < < <
7% % i ES =0.1 0.1 0.2 0.2 0.2 0.3 0.2 0.3 0.2 0.2 0.2 0.2 0.3 0.3 0.3 0.2 0.2

TR BRAEAGR TR R A AR T,
B, FEARORVIRY mg/1£7° %,

(#)ESNL No.l




EITTERT (s AR LR ) S e
B H g KBS FBRAE 4730 5H7H 6 10H 7H8H 81 13H 9H9H 10H7H 1150 12/19H LHTH 2 12H 3H9H jEoN /Ml P
X " C ) 11.4 16.8 22.9 24.5 30.4 28.2 25.0 19.8 14.3 11.1 9.6 10.8 30.4 9.6 18.7
— & M W (E % /m) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
W il AR ARt AR R AR R AR R AR R AR R AR
ARITAKEOZEDONAED =0.003 0.0003 < < < < < < < < < < < < < < <
K E O 2 0o bt & P =0.0005 0.00005 — — < — — < — — < — — < < < <
tLr vy kOO AED =0.01 0.001 < < < < < < < < < < < < < < <
h kK O £ o b & B =0.01 0.001 < < < < < < < < < < < < < < <
x E #E K O E O LAY =0.01 0.001 < < < < < < < < < < < < < < <
AN fli 7 v A &b A& B =0.05 0.001 < < < < < < < < < < < < < < <
o M o = & =0.04 0.004 < < < < < < < < < < < < < < <
VT UE A A v R O Y 7| =0.01 0.001 — — < — — < — — < — — < < < <
3 EE ARG ST =10 0.02 0.48 0.46 0.40 0.48 0.39 0.45 0.50 0.46 0.54 0.56 0.52 0.49 0.56 0.39 0.48
7 v E E B®E 0L AED =0.8 0.05 < < < < < < < < < < < < < < <
AU FE K O®EOMLAED 1.0 0.1 < < < < < < < < < < < < < < <
] bo 1t R ES =0.002 0.0002 < < < < < < < < < < < < < < <
H 4= v F * ¥ v =0.05 0.005 < < < < < < < < < < < < < < <
LAl 2-vrmzFLL KONy A1 2-vsmazFiy| 0,04 0.004 < < < < < < < < < < < < < < <
Y s/ wm o om X K v =0.02 0.001 < < < < < < < < < < < < < < <
F N% Z muw x FL v =0.01 0.001 < < < < < < < < < < < < < < <
KY 7 B oo o F L v =0.01 0.001 < < < < < < < < < < < < < < <
~ 2 + v =<0.01 0.001 < < < < < < < < < < < < < < <
H ES 23 =0.6 0.06 — — < < — < — — < < — < < < <
> 7 s S 3 =0.02 0.002 = = < = = < = = < = i < < < <
s m wm K N A =0.06 0.001 0.003 0.003 0.006 0.004 0.006 0.006 0.004 0.003 0.002 0.001 < 0.001 0.006 < 0.003
Yy 7 m o [ B =0.03 0.002 — — < — — < — — < — — < < < <
Y 7 m ® s uowu AL v =0.1 0.001 0.001 0.001 0.002 0.002 0.003 0.002 0.001 0.002 0.001 0.001 0.001 0.001 0.003 0.001 0.002
= ES 3 =0.01 0.001 — — < < — < — — < < -— < < < <
-3 NI RN S S Y =0.1 0.002 0.006 0.006 0.012 0.008 0.013 0.012 0.007 0.008 0.005 0.004 0.002 0.004 0.013 0.002 0.007
N YU o m o om R =0.03 0.002 — — 0.004 — — 0.004 — — < — — < 0.004 < 0.002
. 7 m ® ¥ s owoum A H v =0.03 0.001 0.002 0.002 0.004 0.002 0.004 0.004 0.002 0.003 0.002 0.002 0.001 0.002 0.004 0.001 0.002
* 7 v E K L A =<0.09 0.001 < < < < < < < < < < < < < < <
A v A T L F B R =0.08 0.005 — — < — — < — — < — — < < < <
o kK 2 ot A& DY =1.0 0.01 < < < < < < < < < < < < < < <
TNAHNIZU LR OZOED =0.2 0.01 < < 0.02 0.01 0.02 0.02 0.01 0.01 < < < < 0.02 < <
% kK O £ o & & B =0.3 0.01 < < < < < < < < < < < < < < <
Ml Kk O o b A& B =1.0 0.01 < < < < < < < < < < < < < < <
FThrRIDAR UV ZOWHAED =200 0.1 4.9 4.9 4.9 5.1 5.4 5.1 5.5 5.2 BB 15 5.5 5.2 BB 4.9 5.2
H|~YyH o O Zofdad D =0.05 0.005 < < < < < < < < < < < < < < <
W ot ®m 14 F v =200 0.1 5.6 5.2 5.2 5.2 5.2 4.9 5.1 5.0 BB 15 5.8 5.4 5.8 4.9 5.3
HNT T BT R N JE ) =300 1 33 34 34 36 37 36 39 36 36 36 37 35 39 33 36
& % 7% # L7} =500 1 57 58 60 63 64 64 62 64 57 51 52 58 64 51 59
e 4 4 > Bom i A =0.2 0.02 -— — < — — < — — < — — < < < <
Y = F A I v =<0.00001 | 0.000001 < < < < < < < < < < < < < < <
2- A F L A4 Y KR )L F A — | £0.00001 | 0.000001 < < < < < < < < < < < < < < <
H A A v R omE E A =0.02 0.005 — — < — — < — — < — — < < < <
7 = J — L H =0.005 0.0005 — — < — — < — — < — — < < < <
Y% (& A R ETOC &) =3 0.2 < < 0.3 < 0.2 0.2 < < < < < < 0.3 < <
pH it 5.8~8.6 7.2 7.2 7.3 7.1 7.2 7.2 7.1 7.2 7.1 7.1 7.1 7.1 7.3 7.1 7.1
S HETROD Bl | BEaL | BEAeL | BEel | BEAL | BEAL | BEARL | BEARL | BEARL | BEAel | BElel | BEL
= kS HHE TR AL | BEaL ) BERL | BEARL | BEARL | BEAL | BEARL | BEARL | BERL | BERL | BEeL | BEL
&) EOC E ) =5 0.5 < < < < < < < < < < < < < < <
) o E ) =2 0.2 < < < < < < < < < < < < < < <
7% % i ES =0.1 0.1 0.2 0.2 0.1 0.2 0.2 0.2 0.2 0.2 0.3 0.2 0.3 0.3 0.3 0.1 0.2
ner o a— :
AL RO B et g GPHEF  No.2




WATTEANT  UEE#EAR LR kM) AT
B H g KBS FBRAE 4730 5H7H 6J110H 7H8H 81 13H 9H9H 10H7H 1150 12/19H LHTH 2 12H 3H9H jEoN /Ml P
X " O C ) 10.9 15.3 20.1 21.9 26.1 25.9 24.4 20.4 14.8 12.4 10.2 11.2 26.1 10.2 17.8
— & M W (E % /m) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
K W il AR ARt AR R AR R AR R AR R AR R AR
ARITAKEOZEDONAED =0.003 0.0003 < < < < < < < < < < < < < < <
K E O 2 0o b & P =0.0005 0.00005 — — < — — < — — < — — < < < <
tLr vy kOO AED =0.01 0.001 < < < < < < < < < < < < < < <
h kK O £ o b A& B =0.01 0.001 < < < < < < < < < < < < < < <
x E #E K O E O LAY =0.01 0.001 < < < < < < < < < < < < < < <
AN fli 7 v A & & B =0.05 0.001 < < < < < < < < < < < < < < <
o M o = & =0.04 0.004 < < < < < < < < < < < < < < <
VT e A A v R O LY 7| =0.01 0.001 — — < — — < — — < — — < < < <
3 EE ARG ST =10 0.02 0.47 0.45 0.43 0.49 0.39 0.44 0.50 0.45 0.53 0.57 0.52 0.48 0.57 0.39 0.48
7 v E E B®E 0L AD =0.8 0.05 < < < < < < < < < < < < < < <
AU FE K O®EOMLAED 1.0 0.1 < < < < < < < < < < < < < < <
] bo 1t R # =0.002 0.0002 < < < < < < < < < < < < < < <
H 4= v F * ¥ v =0.05 0.005 < < < < < < < < < < < < < < <
LAl 2-vrmzFLL KONy A1 2-vsmazFiy| 0,04 0.004 < < < < < < < < < < < < < < <
Y s/ wm oBm X K v =0.02 0.001 < < < < < < < < < < < < < < <
F N% Z muw x FL v =0.01 0.001 < < < < < < < < < < < < < < <
kY 7 B oo o F L v =<0.01 0.001 < < < < < < < < < < < < < < <
~ 2 + v =<0.01 0.001 < < < < < < < < < < < < < < <
H ES 23 =0.6 0.06 — — < < — < — — < < — < < < <
> 7 I S 3 =0.02 0.002 = = < = = < = = < = i < < < <
s m wm K N A =0.06 0.001 0.002 0.003 0.007 0.003 0.005 0.005 0.005 0.002 0.001 0.001 < 0.001 0.007 < 0.003
Yy 7 m o [ B =0.03 0.002 — — < — — < — — < — — < < < <
Y 7 m ® s uowu AL v =0.1 0.001 0.001 < 0.001 < 0.002 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.002 < 0.001
= ES 3 =0.01 0.001 — — < < — < — — < < -— < < < <
-3 NI RN S S Y =0.1 0.002 0.005 0.005 0.011 0.005 0.010 0.010 0.008 0.005 0.004 0.003 0.002 0.003 0.011 0.002 0.006
Y 7 v B OB =0.03 0.002 — — 0.005 — — 0.004 — — < — — < 0.005 < 0.002
. 7 m ® ¥ s owoum A H v =0.03 0.001 0.002 0.002 0.003 0.002 0.003 0.003 0.002 0.002 0.002 0.001 0.001 0.001 0.003 0.001 0.002
* 7 v E K L A =<0.09 0.001 < < < < < < < < < < < < < < <
A v A T L F B R =0.08 0.005 — — < — — < — — < — — < < < <
o kK 2 ot A& DY =1.0 0.01 < < < < < < < < < < < < < < <
TNVI=UAKOZOIAEY =0.2 0.01 < < 0.02 0.01 0.02 0.02 0.01 0.02 < < 0.01 < 0.02 < <
% kK O 2 o b A& B =0.3 0.01 < < < < < < < < < < 0.02 < 0.02 < <
Ml Kk O o b A& B =1.0 0.01 < < < < < < < < < < < < < < <
FThrRIDAR UV ZOWHAED =200 0.1 4.8 4.9 5.1 5.1 5.3 5.1 5.5 5.2 BB 15 5.6 5.2 5.6 4.8 5.2
H|~YyH o O Zofdad D =0.05 0.005 < < < < < < < < < < < < < < <
W ot ®m 14 F v =200 0.1 5.6 5.2 5.5 5.2 5.2 4.9 5.1 5.1 5.3 5.7 5.9 5.4 5.9 4.9 5.3
HNT T BT R N JE ) =300 1 33 32 33 35 35 34 37 35 36 35 36 35 37 32 35
& % i3 %.%’ L7} =500 1 54 59 54 62 63 64 62 62 56 56 59 54 64 54 59
e 4 4 > Bom i A =0.2 0.02 -— — < — — < — — < — — < < < <
Y = 4 A I v =<0.00001 | 0.000001 < < < < < < < < < < < < < < <
- A F N AV K L x A — L[ £0.00001 | 0.000001 < < < < < < < < < < < < < < <
H kA A v R omE E A =0.02 0.005 — — < — — < — — < — — < < < <
7 = J — L H =0.005 0.0005 — — < — — < — — < — — < < < <
Y% (2 A %R ETOC &) =3 0.2 0.2 < 0.4 < 0.3 0.2 0.2 < < < < < 0.4 < <
pH it 5.8~8.6 7.1 7.1 7.2 7.0 7.1 7.1 7.1 7.1 7.0 7.0 7.1 7.0 7.2 7.0 7.1
S HETRO Bl | BEaL | BEARL | BEel | BEAL | BEAL | BEARL | BEARL | BEARL | BEel | BElel | BEL
= kS HHE TR AL | BEaL ) BERL | BEARL | BEARL | BEAL | BEARL | BEARL | BERL | BERL | BEeL | BEL
&) EOC E ) =5 0.5 < < < < < < < < < < < < < < <
) o E ) =2 0.2 < < < < < < < < < < < < < < <
7% % i ES =0.1 0.1 0.2 0.2 0.2 0.3 0.3 0.2 0.2 0.2 0.3 0.2 0.2 0.2 0.3 0.2 0.2

TR BRAEAGR TR R A AR T,
B, FEARORVIRY mg/1£7° %,

(F)EAM No.3




IFHRET LB AR RECKH) AT
B H g KBS FBRAE 4730 5H7H 6 10H 7H8H 81 13H 9H9H 10H7H 1150 12/19H LHTH 2 12H 3H9H jEoN /Ml P
X " C ) 10.4 17.4 22.6 24.3 28.8 27.1 24.7 19.2 12.4 13.6 7.9 10.1 28.8 7.9 18.2
— & M W (E % /m) =100 0 0 0 8 0 0 0 0 0 0 0 0 0 8 0 1
K W il AR ARt AR R AR R AR R AR R AR R AR
ARITAKEOZEDONAED =0.003 0.0003 < < < < < < < < < < < < < < <
K E O 2 0o bt & P =0.0005 0.00005 — — < — — < — — < — — < < < <
tLr vy kOO AED =0.01 0.001 < < < < < < < < < < < < < < <
n kK O 2 o b A& B =0.01 0.001 < < < < < 0.001 < < < < < < 0.001 < <
x E #E K O E O LAY =0.01 0.001 < < < < < < < < < < < < < < <
AN fli 7 v A &b A& B =0.05 0.001 < < < < < < < < < < < < < < <
o M o = & =0.04 0.004 < < < < < < < < < < < < < < <
VT UE A A v R O Y 7| =0.01 0.001 — — < — — < — — < — — < < < <
3 EE ARG ST =10 0.02 0.44 0.47 0.41 0.44 0.37 0.47 0.40 0.47 0.48 0.53 0.51 0.49 0.53 0.37 0.46
7 v E E B®E 0L AED =0.8 0.05 < < < < < < < < < < < < < < <
AU FE K O®EOMLAED 1.0 0.1 < < < < < < < < < < < < < < <
] bo 1t R ES =0.002 0.0002 < < < < < < < < < < < < < < <
H 4= v F * ¥ v =0.05 0.005 < < < < < < < < < < < < < < <
LAl 2-vrmzFLL KONy A1 2-vsmazFiy| 0,04 0.004 < < < < < < < < < < < < < < <
Y s/ wm o om X K v =0.02 0.001 < < < < < < < < < < < < < < <
F N% Z muw x FL v =0.01 0.001 < < < < < < < < < < < < < < <
KY 7 B oo o F L v =0.01 0.001 < < < < < < < < < < < < < < <
~ 2 + v =<0.01 0.001 < < < < < < < < < < < < < < <
H ES 23 =0.6 0.06 — — < < — < — — < < — < < < <
> 7 s S 3 =0.02 0.002 = = < = = < = = < = i < < < <
s m wm K N A =0.06 0.001 0.003 0.003 0.008 0.009 0.009 0.009 0.006 0.006 0.003 0.002 0.002 0.002 0.009 0.002 0.005
Yy 7 m o [ B =0.03 0.002 — — < — — < — — < — — < < < <
Y 7 m ® s uowu AL v =0.1 0.001 0.002 0.002 0.003 0.003 0.003 0.003 0.003 0.003 0.002 0.002 0.002 0.002 0.003 0.002 0.002
= ES 3 =0.01 0.001 — — < < — < — — < < -— < < < <
-3 NI RN S S Y =0.1 0.002 0.008 0.007 0.016 0.017 0.018 0.017 0.013 0.013 0.008 0.006 0.006 0.006 0.018 0.006 0.011
N YU o m o om R =0.03 0.002 — — 0.005 — — 0.005 — — < — — < 0.005 < 0.003
. 7 m ® ¥ s owoum A H v =0.03 0.001 0.003 0.002 0.005 0.005 0.006 0.005 0.004 0.004 0.003 0.002 0.002 0.002 0.006 0.002 0.004
* 7 v E K L A =<0.09 0.001 < < < < < < < < < < < < < < <
A v A T L F B R =0.08 0.005 — — < — — < — — < — — < < < <
o kK 2 ot A& DY =1.0 0.01 < < < < < < < < < < < < < < <
TNAHNIZU LR OZOED =0.2 0.01 < < 0.01 0.02 0.02 0.02 0.02 0.01 < < < < 0.02 < <
% kE O = o { & B <0.3 0.01 0.01 0.01 0.01 0.01 0.01 0.01 0.01 0.01 0.02 0.01 0.01 0.01 0.02 0.01 0.01
Ml Kk O o b A& B =1.0 0.01 < < < < < < < < < < < < < < <
FThrRIDAR UV ZOWHAED =200 0.1 4.9 5.0 5.2 5.3 5.4 5.3 5.4 5.4 5.8 15 5.4 5.3 5.8 4.9 5.3
H|~YyH o O Zofdad D =0.05 0.005 < < < < < < < < < < < < < < <
W ot ®m 14 F v =200 0.1 5.5 5.2 5.7 5.6 5.3 5.3 5.2 5.2 5.8 15 5.6 55 5.8 5.2 5.4
HNT T BT R N JE ) =300 1 34 35 36 36 37 39 39 38 39 38 38 37 39 34 37
& % 23 # L7} =500 1 54 63 52 61 62 67 61 62 60 54 58 61 67 52 60
e 4 4 > Bom i A =0.2 0.02 -— — < — — < — — < — — < < < <
Y = F A I v =<0.00001 | 0.000001 < < < < < < < < < < < < < < <
2- A F L A4 Y KR )L F A — | £0.00001 | 0.000001 < < < < < < < < < < < < < < <
H A A v R omE E A =0.02 0.005 — — < — — < — — < — — < < < <
7 = J — L H =0.005 0.0005 — — < — — < — — < — — < < < <
Y% (& A R ETOC &) =3 0.2 < < 0.2 0.2 0.2 0.2 0.2 0.2 < < < < 0.2 < <
pH fil 5.8~8.6 7.5 7.5 7.7 7.6 7.7 7.7 7.7 7.6 7.5 7.4 7.3 7.4 7.7 7.3 7.6
S HETROD Bl | BEaL | BEAeL | BEel | BEAL | BEAL | BEARL | BEARL | BEARL | BEAel | BElel | BEL
= kS HHE TR AL | BEaL ) BERL | BEARL | BEARL | BEAL | BEARL | BEARL | BERL | BERL | BEeL | BEL
&) EOC E ) =5 0.5 < < < < < < < < < < < < < < <
) o E ) =2 0.2 < < < < < < < < < < < < < < <
7% % i ES =0.1 0.1 0.2 0.2 0.1 0.2 0.2 0.1 0.1 0.1 0.2 0.2 0.2 0.2 0.2 0.1 0.2
TV RREAT, IR A AR T,
A, FRIROZRVIRD, mg/1X T B, (|F)R No.4




BHTEMNTHE  (CARACGR P LEC k) AT
B H g KBS FBRAE 4730 5H7H 6J110H 7H8H 81 13H 9H9H 10H7H 1150 12/19H LHTH 2 12H 3H9H jEoN /Ml P
X " C ) 12.2 18.1 22.8 23.9 28.9 27.8 24.5 18.6 13.7 16.0 9.3 11.9 28.9 9.3 19.0
— & M W (E % /m) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
K W il AR ARt AR R AR R AR R AR R AR R AR
ARITAKEOZEDONAED =0.003 0.0003 < < < < < < < < < < < < < < <
K E O 2 0o bt & P =0.0005 0.00005 — — < — — < — — < — — < < < <
tLr vy kOO AED =0.01 0.001 < < < < < < < < < < < < < < <
h kK O £ o b & B =0.01 0.001 < < < < < < < < < < < < < < <
x E #E K O E O LAY =0.01 0.001 < < < < < < < < < < < < < < <
AN fli 7 v A &b A& B =0.05 0.001 < < < < < < < < < < < < < < <
o M o = & =0.04 0.004 < < < < < < < < < < < < < < <
VT UE A A v R O Y 7| =0.01 0.001 — — < — — < — — < — — < < < <
3 EE ARG ST =10 0.02 0.57 0.55 0.53 0.56 0.52 0.57 0.56 0.54 0.55 0.56 0.53 0.54 0.57 0.52 0.55
7 v E E B®E 0L AED =0.8 0.05 < < < < < < < < < < < < < < <
AU FE K O®EOMLAED 1.0 0.1 < < < < < < < < < < < < < < <
] bo 1t R ES =0.002 0.0002 < < < < < < < < < < < < < < <
H 4= v F * ¥ v =0.05 0.005 < < < < < < < < < < < < < < <
LAl 2-vrmzFLL KONy A1 2-vsmazFiy| 0,04 0.004 < < < < < < < < < < < < < < <
Y s/ wm o om X K v =0.02 0.001 < < < < < < < < < < < < < < <
F N% Z muw x FL v =0.01 0.001 < < < < < < < < < < < < < < <
KY 7 B oo o F L v =<0.01 0.001 < < < < < < < < < < < < < < <
~ 2 + v =<0.01 0.001 < < < < < < < < < < < < < < <
H ES 23 =0.6 0.06 — — < < — < — — < < — < < < <
> 7 s S 3 =0.02 0.002 = = < = = < = = < = i < < < <
s m wm K N A =0.06 0.001 < < 0.002 < 0.001 0.002 0.001 < < < < < 0.002 < <
Yy 7 m o [ B =0.03 0.002 — — < — — < — — < — — < < < <
Y 7 m ® s uowu AL v =0.1 0.001 < < 0.001 0.001 0.001 0.001 0.001 0.001 < < 0.001 0.001 0.001 < <
= ES 3 =0.01 0.001 — — < < — < — — < < -— < < < <
-3 NI RN S S Y =0.1 0.002 < < 0.004 < 0.003 0.004 0.002 < < < < < 0.004 < <
Y 7 B B OB =0.03 0.002 — — < — — < — — < — — < < < <
. 7 m ® ¥ s owoum A H v =0.03 0.001 < < 0.001 < 0.001 0.001 < < < < < < 0.001 < <
* 7 v E K L A =<0.09 0.001 < < < < < < < < < < < < < < <
A v A T L F B R =0.08 0.005 — — < — -— < — — < — — < < < <
o kK 2 ot A& DY =1.0 0.01 < < < < < < < < < < < < < < <
TNAHNIZU LR OZOED =0.2 0.01 < < < < < < < < < < < < < < <
% kK O = o b A& B =0.3 0.01 < < < < < < < < < < 0.01 < 0.01 < <
Ml Kk O o b A& B =1.0 0.01 < < < < < < < < < < < < < < <
FThrRIDAR UV ZOWHAED =200 0.1 11.4 10.7 10.5 10.9 10.9 10.2 11.0 10.5 11.4 11.9 10.6 10.8 11.9 10.2 10.9
H|~YyH o O Zofdad D =0.05 0.005 < < < < < < < < < < < < < < <
W ot ®m 14 F v =200 0.1 8.6 7.9 8.0 8.3 8.0 8.0 8.2 7.9 8.1 8.7 8.0 7.8 8.7 7.8 8.1
HNT TN T IRy NE(H ) =300 1 81 75 70 76 76 73 79 74 78 82 76 76 82 70 76
& B 7% I L] =500 1 118 118 104 117 117 114 113 115 112 114 114 112 118 104 114
B2 A A4 » Fom & A =0.2 0.02 - -— < -— - < - -— < -— - < < < <
Y = F A I v =<0.00001 | 0.000001 < < < < < < < < < < < < < < <
- A F N AV K L x A — L[ £0.00001 | 0.000001 < < < < < < < < < < < < < < <
H A A v R omE E A =0.02 0.005 — — < — — < — — < — — < < < <
7 = J — L H =0.005 0.0005 — — < — — < — — < — — < < < <
Y% (& A R ETOC &) =3 0.2 < < < < < < < < < < < < < < <
pH fil 5.8~8.6 7.6 7.5 7.6 7.5 7.7 7.6 7.6 7.5 7.5 7.5 7.5 7.4 7.7 7.4 7.5
S HETROD Bl | BEaL | BEAeL | BEel | BEAL | BEAL | BEARL | BEARL | BEARL | BEAel | BElel | BEL
= kS HHE TR AL | BEaL ) BERL | BEARL | BEARL | BEAL | BEARL | BEARL | BERL | BERL | BEeL | BEL
&) EOC E ) =5 0.5 < < < < < < < < < < < < < < <
) o E ) =2 0.2 < < < < < < < < < < < < < < <
7% % i ES =0.1 0.1 0.2 0.3 0.2 0.3 0.3 0.3 0.2 0.3 0.3 0.2 0.2 0.2 0.3 0.2 0.3
"ot A 1% )
W SR e UPEH  No5




WIS REET  (LMKR AEKH) AT TR FE
B H g KBS FBRAE 4730 5H7H 6J110H 7H8H 81 13H 9H9H 10H7H 1150 12/19H LHTH 2 12H 3H9H jEoN /Ml P
X " C ) 11.0 17.4 21.5 23.6 28.6 26.8 24.4 16.7 13.4 11.2 9.2 10.7 28.6 9.2 17.9
— & M W (E % /m) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
K W il AR ARt AR R AR R AR R AR R AR R AR
ARITAKEOZEDONAED =0.003 0.0003 < < < < < < < < < < < < < < <
K E O 2 0o bt & P =0.0005 0.00005 — — < — — < — — < — — < < < <
tLr vy kOO AED =0.01 0.001 < < < < < < < < < < < < < < <
h kK O £ o b & B =0.01 0.001 < < < < < < < < < < < < < < <
x E #E K O E O LAY =0.01 0.001 < < < < < < < < < < < < < < <
AN fli 7 v A &b A& B =0.05 0.001 < < < < < < < < < < < < < < <
o M o = & =0.04 0.004 < < < < < < < < < < < < < < <
VT UE A A v R O Y 7| =0.01 0.001 — — < — — < — — < — — < < < <
3 EE ARG ST =10 0.02 0.43 0.43 0.37 0.40 0.38 0.44 0.40 0.43 0.48 0.49 0.46 0.44 0.49 0.37 0.43
7 v E E B®E 0L AED =0.8 0.05 < < < < < < < < < < < < < < <
AU FE K O®EOMLAED 1.0 0.1 < < < < < < < < < < < < < < <
] bo 1t R ES =0.002 0.0002 < < < < < < < < < < < < < < <
H 4= v F * ¥ v =0.05 0.005 < < < < < < < < < < < < < < <
LAl 2-vrmzFLL KONy A1 2-vsmazFiy| 0,04 0.004 < < < < < < < < < < < < < < <
Y s/ wm o om X K v =0.02 0.001 < < < < < < < < < < < < < < <
F N% Z muw x FL v =0.01 0.001 < < < < < < < < < < < < < < <
KY 7 B oo o F L v =<0.01 0.001 < < < < < < < < < < < < < < <
~ 2 + v =<0.01 0.001 < < < < < < < < < < < < < < <
H ES 23 =0.6 0.06 — — < < — < — — < < — < < < <
> 7 s S 3 =0.02 0.002 = = < = = < = = < = i < < < <
s m wm K N A =0.06 0.001 0.001 0.002 0.003 0.003 0.003 0.003 0.002 0.002 0.002 0.001 < 0.001 0.003 < 0.002
Yy 7 m o [ B =0.03 0.002 — — < — — < — — < — — < < < <
Y 7 m ® s uowu AL v =0.1 0.001 0.001 0.001 0.002 0.002 0.003 0.003 0.002 0.002 0.002 0.002 0.001 0.001 0.003 0.001 0.002
= ES 3 =0.01 0.001 — — < < — < — — < < -— < < < <
-3 NI RN S S Y =0.1 0.002 0.003 0.004 0.008 0.008 0.009 0.009 0.006 0.006 0.006 0.005 0.002 0.003 0.009 0.002 0.006
Y 7 B B OB =0.03 0.002 — — 0.002 — — 0.002 — — < — — < 0.002 < <
. 7 m ® ¥ s owoum A H v =0.03 0.001 0.001 0.001 0.003 0.003 0.003 0.003 0.002 0.002 0.002 0.002 0.001 0.001 0.003 0.001 0.002
* 7 v E K L A =<0.09 0.001 < < < < < < < < < < < < < < <
A v A T L F B R =0.08 0.005 — — < — — < — — < — — < < < <
o kK 2 ot A& DY =1.0 0.01 < < < < < < < < < < < < < < <
TNAHNIZU LR OZOED =0.2 0.01 < < < < 0.01 0.01 0.01 < < < < < 0.01 < <
% kK O £ o & & B =0.3 0.01 < < < < < < < < < < < < < < <
Ml Kk O o b A& B =1.0 0.01 < < < < < < < < < < < < < < <
FThrRIDAR UV ZOWHAED =200 0.1 6.8 7.4 7.5 7.4 7.6 7.8 7.4 7.1 7.5 7.1 7.2 7.2 7.8 6.8 7.3
H|~YyH o O Zofdad D =0.05 0.005 < < < < < < < < < < < < < < <
W ot ®m 14 F v =200 0.1 6.8 6.9 7.3 7.1 7.0 7.4 6.9 6.6 7.1 6.9 7.0 6.8 7.4 6.6 7.0
HNT TN T IRy NE(H ) =300 1 59 63 63 62 64 69 66 60 61 57 62 60 69 57 62
& % 7% # L7} =500 1 90 102 96 100 102 110 98 94 86 82 97 86 110 82 95
e 4 4 > Bom i A =0.2 0.02 -— — < — — < — — < — — < < < <
Y = F A I v =<0.00001 | 0.000001 < < < < < < < < < < < < < < <
- A F N AV K L x A — L[ £0.00001 | 0.000001 < < < < < < < < < < < < < < <
H A A v R omE E A =0.02 0.005 — — < — — < — — < — — < < < <
7 = J — L H =0.005 0.0005 — — < — — < — — < — — < < < <
Y% (& A R ETOC &) =3 0.2 < < < < 0.3 < 0.2 < < < < < 0.3 < <
pH fil 5.8~8.6 7.5 7.4 7.5 7.5 7.5 7.5 7.5 7.5 7.4 7.4 7.4 7.4 7.5 7.4 7.5
S HETROD Bl | BEaL | BEAeL | BEel | BEAL | BEAL | BEARL | BEARL | BEARL | BEAel | BElel | BEL
= kS HHE TR AL | BEaL ) BERL | BEARL | BEARL | BEAL | BEARL | BEARL | BERL | BERL | BEeL | BEL
&) EOC E ) =5 0.5 < < < < < < < < < < < < < < <
) o E ) =2 0.2 < < < < < < < < < < < < < < <
7% % i ES =0.1 0.1 0.2 0.2 0.2 0.2 0.2 0.2 0.1 0.2 0.2 0.2 0.3 0.3 0.3 0.1 0.2
ner o a— ) B
AL RO B et g UDZRE  No.b




A R WET GREACR FRHEEKE) AR AR e
B H g KBS FBRAE 4730 5H7H 6 10H 7H8H 8H13H 9H9H 10H7H 1150 12/19H LHTH 2 12H 3H9H jEoN /Ml P
X " C ) 11.5 15.9 21.9 23.1 27.5 27.2 25.7 21.0 15.8 13.1 10.9 11.7 21.5 10.9 18.8
— & M W (E % /m) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
W il AR ARt At AR AR A AR A AR AR AR AR AR
ARITAKEOZEDONAED =0.003 0.0003 < < < < < < < < < < < < < < <
K E O 2 0o bt & P =0.0005 0.00005 — — < — — < — — < — — < < < <
tLr vy kOO AED =0.01 0.001 < < < < < < < < < < < < < < <
h kK O £ o b & B =0.01 0.001 < < < < < < < < < < < < < < <
x E #E K O E O LAY =0.01 0.001 < < < < < < < < < < < < < < <
AN fli 7 v A &b A& B =0.05 0.001 < < < < < < < < < < < < < < <
o M o = & =0.04 0.004 < < < < < < < < < < < < < < <
VT UE A A v R O Y 7| =0.01 0.001 — — < — — < — — < — — < < < <
3 EE ARG ST =10 0.02 1.04 1.04 1.02 1.03 1.02 1.15 1.03 1.04 1.03 1.04 1.03 1.02 1.15 1.02 1.04
7 v E E B®E 0L AED =0.8 0.05 < < < < < < < < < < < < < < <
AU FE K O®EOMLAED 1.0 0.1 < < < < < < < < < < < < < < <
] bo 1t R ES =0.002 0.0002 < < < < < < < < < < < < < < <
H 4= v F * ¥ v =0.05 0.005 < < < < < < < < < < < < < < <
LAl 2-vrmzFLL KONy A1 2-vsmazFiy| 0,04 0.004 < < < < < < < < < < < < < < <
Y s/ wm o om X K v =0.02 0.001 < < < < < < < < < < < < < < <
F N% Z muw x FL v =0.01 0.001 < < < < < < < < < < < < < < <
KY 7 B oo o F L v =0.01 0.001 < < < < < < < < < < < < < < <
~ 2 + v =<0.01 0.001 < < < < < < < < < < < < < < <
H ES 23 =0.6 0.06 — — < < — < — — < < — < < < <
> 7 s S 3 =0.02 0.002 = = < = = < = = < = i < < < <
s m wm K N A =0.06 0.001 < < < < < < < < < < < < < < <
Yy 7 m o [ B =0.03 0.002 — — < — — < — — < — — < < < <
Y 7 m ® s uowu AL v =0.1 0.001 < < < < < < < < < < < < < < <
= ES 3 =0.01 0.001 — — < < — < — — < < -— < < < <
-3 NI RN S S Y =0.1 0.002 < < < < < < < < < < < < < < <
N YU o m o om R =0.03 0.002 — — < — — < — — < — — < < < <
. 7 m ® ¥ s owoum A H v =0.03 0.001 < < < < < < < < < < < < < < <
* 7 v E K L A =<0.09 0.001 < < < < < < < < < < < < < < <
A v A T L F B R =0.08 0.005 — — < — — < — — < — — < < < <
o kK 2 ot A& DY =1.0 0.01 < < < < < < < < < < < < < < <
TNAHNIZU LR OZOED =0.2 0.01 < < < < < < < < < < < < < < <
% kK O £ o & & B =0.3 0.01 < < < < < < < < < < < < < < <
Ml Kk O o b A& B =1.0 0.01 < < < < < < < < < < < < < < <
FTRrRIVARUCZDOHED =200 0.1 10.3 10.3 10.3 10.1 10.4 10.3 10.2 10.4 10.5 10.4 10.3 10.4 10.5 10.1 10.3
H|~YyH o O Zofdad D =0.05 0.005 < < < < < < < < < < < < < < <
W ot ®m 14 F v =200 0.1 8.4 8.0 8.3 8.4 8.2 8.8 8.3 8.3 8.2 8.2 8.2 8.1 8.8 8.0 8.3
HNT TN T IRy NE(H ) =300 1 102 101 99 99 101 103 107 103 101 100 103 101 107 99 102
& B 7% I L] =500 1 148 144 150 151 154 153 157 154 148 148 145 146 157 144 150
e 4 4 > Bom i A =0.2 0.02 — — < — — < — — < — — < < < <
Y = F A I v =0.00001 | 0.000001 < < < < < < < < < < < < < < <
2- A F b A Y KV FF — | £0.00001 | 0.000001 < < < < < < < < < < < < < < <
H A A v R omE E A =0.02 0.005 — — < — — < — — < — — < < < <
7 = J — L H =0.005 0.0005 — — < — — < — — < — — < < < <
Y% (& A R ETOC &) =3 0.2 < < < < < < < < < < < < < < <
pH fil 5.8~8.6 7.7 7.7 7.8 7.7 7.8 7.7 7.7 7.7 7.7 7.7 7.7 7.6 7.8 7.6 7.7
S HETROD Bl | BEaL | BEAeL | BEel | BEAL | BEAL | BEARL | BEARL | BEARL | BEAel | BElel | BEL
= kS HHE TR AL | BEaL ) BERL | BEARL | BEARL | BEAL | BEARL | BEARL | BERL | BERL | BEeL | BEL
&) EOC E ) =5 0.5 < < < < < < < < < < < < < < <
) o E ) =2 0.2 < < < < < < < < < < < < < < <
7% 2 i ES =0.1 0.1 0.2 0.2 0.2 0.2 0.2 0.1 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.1 0.2
"ot A 1% : B
W SR e UPTAT NoT




EIHEAIT  QUPEAR I FEE M) AT TR FE
B H g KBS FBRAE 4730 5H7H 6J110H 7H8H 81 13H 9H9H 10H7H 1150 12/19H LHTH 2 12H 3H9H jEoN /Ml P
X " C ) 10.3 15.9 20.9 21.9 26.6 26.0 24.2 19.0 13.8 11.3 9.2 11.1 26.6 9.2 17.5
— & M W (E % /m) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
K W il AR ARt AR R AR R AR R AR R AR R AR
ARITAKEOZEDONAED =0.003 0.0003 < < < < < < < < < < < < < < <
K E O 2 0o bt & P =0.0005 0.00005 — — < — — < — — < — — < < < <
tLr vy kOO AED =0.01 0.001 < < < < < < < < < < < < < < <
h kK O £ o b & B =0.01 0.001 < < < < < < < < < < < < < < <
x E #E K O E O LAY =0.01 0.001 < < < < < < < < < < < < < < <
AN fli 7 v A &b A& B =0.05 0.001 < < < < < < < < < < < < < < <
o M o = & =0.04 0.004 < < < < < < < < < < < < < < <
VT A A R ORI T | =001 0.001 — — < — — < — — < — — < < < <
3 EE ARG ST =10 0.02 0.47 0.46 0.38 0.46 0.39 0.45 0.45 0.45 0.55 0.56 0.52 0.49 0.56 0.38 0.47
7 v E E B®E 0L AED =0.8 0.05 < < < < < < < < < < < < < < <
AU FE K O®EOMLAED 1.0 0.1 < < < < < < < < < < < < < < <
] bo 1t R ES =0.002 0.0002 < < < < < < < < < < < < < < <
H 4= v F * ¥ v =0.05 0.005 < < < < < < < < < < < < < < <
LAl 2-vrmzFLL KONy A1 2-vsmazFiy| 0,04 0.004 < < < < < < < < < < < < < < <
Y s/ wm o om X K v =0.02 0.001 < < < < < < < < < < < < < < <
F N% Z muw x FL v =0.01 0.001 < < < < < < < < < < < < < < <
KY 7 B oo o F L v =<0.01 0.001 < < < < < < < < < < < < < < <
~ 2 + v =<0.01 0.001 < < < < < < < < < < < < < < <
H ES 23 =0.6 0.06 — — < < — < — — < < — < < < <
> 7 s S 3 =0.02 0.002 = = < = = < = = < = i < < < <
s m wm K N A =0.06 0.001 0.002 0.003 0.006 0.004 0.006 0.006 0.003 0.003 0.002 0.002 0.001 0.002 0.006 0.001 0.003
Yy 7 m o [ B =0.03 0.002 — — < — — < — — < — — < < < <
Y 7 m ® s uowu AL v =0.1 0.001 0.001 0.001 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.001 0.002 0.001 0.002
= ES 3 =0.01 0.001 — — < < — < — — < < -— < < < <
-3 NI RN S S Y =0.1 0.002 0.005 0.006 0.012 0.009 0.012 0.012 0.008 0.008 0.006 0.006 0.005 0.005 0.012 0.005 0.008
Y 7 B B OB =0.03 0.002 — — 0.004 — — 0.004 — — < — — < 0.004 < 0.002
. 7 m ® ¥ s owoum A H v =0.03 0.001 0.002 0.002 0.004 0.003 0.004 0.004 0.003 0.003 0.002 0.002 0.002 0.002 0.004 0.002 0.003
* 7 v E K L A =<0.09 0.001 < < < < < < < < < < < < < < <
A v A T L F B R =0.08 0.005 -— — < — — < — — < — — < < < <
o kK 2 ot A& DY =1.0 0.01 < < < < < < < < < < < < < < <
TNVI=UAKOZOIAEY =0.2 0.01 < < 0.02 0.01 0.02 0.02 0.02 0.01 < < < < 0.02 < <
% kK O £ o & & B =0.3 0.01 < < < < < < < < < < < < < < <
Ml Kk O o b A& B =1.0 0.01 < < < < < < < < < < < < < < <
FThrRIDAR UV ZOWHAED =200 0.1 4.9 5.0 4.9 5.1 5.3 5.1 5.4 5.2 5.6 15 5.5 5.2 5.6 4.9 5.2
H|~YyH o O Zofdad D =0.05 0.005 < < < < < < < < < < < < < < <
W ot ®m 14 F v =200 0.1 5.5 5.2 5.2 5.2 5.2 5.0 5.1 4.9 5.8 5.8 5.7 55 5.8 4.9 5.3
HNT T BT R N JE ) =300 1 33 33 32 34 35 34 38 35 35 36 37 34 38 32 35
& % 7% # L7} =500 1 53 56 54 55 64 62 62 62 60 57 53 56 64 53 58
e 4 4 > Bom i A =0.2 0.02 -— — < — — < — — < — — < < < <
Y = F A I v =<0.00001 | 0.000001 < < < < < < < < < < < < < < <
- AF NV A Y AL FF — | £0.00001 [ 0.000001 < < < < < < < < < < < < < < <
H A A v R omE E A =0.02 0.005 — — < — — < — — < — — < < < <
7 = J — L H =0.005 0.0005 — — < — — < — — < — — < < < <
Y% (& A R ETOC &) =3 0.2 < < 0.3 < 0.2 0.2 < < < < < < 0.3 < <
pH it 5.8~8.6 7.2 7.2 7.3 7.2 7.2 7.2 7.2 7.2 7.1 7.2 7.1 7.1 7.3 7.1 7.2
S HETROD Bl | BEaL | BEAeL | BEel | BEAL | BEAL | BEARL | BEARL | BEARL | BEAel | BElel | BEL
= kS HHE TR AL | BEaL ) BERL | BEARL | BEARL | BEAL | BEARL | BEARL | BERL | BERL | BEeL | BEL
&) EOC E ) =5 0.5 < < < < < < < < < < < < < < <
) o E ) =2 0.2 < < < < < < < < < < < < < < <
7% % i ES =0.1 0.1 0.2 0.2 0.2 0.3 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.3 0.2 0.2

TR BRAEAGR TR R A AR T,
B, FEARORVIRY mg/1£7° %,

()L No8




fEFT—E ST ONPEARSFR —EFFIERT) AT
B H g KBS FBRAE 4730 5H7H 6J110H 7H8H 81 13H 9H9H 10H7H 1150 12/19H LHTH 2 12H 3H9H jEoN /Ml P
X " C ) 10.3 15.4 21.1 24.0 27.4 26.4 24.4 19.9 14.5 11.4 9.0 10.7 27.4 9.0 17.9
— & M W (E % /m) =100 0 0 0 0 0 0 0 0 0 0 3 0 0 3 0 0
K W il AR ARt AR R AR R AR R AR R AR R AR
ARITAKEOZEDONAED =0.003 0.0003 < < < < < < < < < < < < < < <
K E O 2 0o bt & P =0.0005 0.00005 — — < — — < — — < — — < < < <
tLr vy kOO AED =0.01 0.001 < < < < < < < < < < < < < < <
h kK O £ o b & B =0.01 0.001 < < < < < < < < < < < < < < <
" vt E K O 0 kA& Y =0.01 0.001 < < < < < < < < < < < < < < <
AN fli 7 v A &b A& B =0.05 0.001 < < < < < < < < < < < < < < <
o M o = & =0.04 0.004 < < < < < < < < < < < < < < <
VT A A R ORI T | =001 0.001 — — < — — < — — < — — < < < <
3 EE ARG ST =10 0.02 0.45 0.47 0.37 0.44 0.38 0.46 0.42 0.46 0.53 0.55 0.51 0.48 0.55 0.37 0.46
7 v E E B®E 0L AED =0.8 0.05 < < < < < < < < < < < < < < <
AU FE K O®EOMLAED 1.0 0.1 < < < < < < < < < < < < < < <
] bo 1t R ES =0.002 0.0002 < < < < < < < < < < < < < < <
H 4= v F * ¥ v =0.05 0.005 < < < < < < < < < < < < < < <
LAl 2-vrmzFLL KONy A1 2-vsmazFiy| 0,04 0.004 < < < < < < < < < < < < < < <
Y s/ wm o om X K v =0.02 0.001 < < < < < < < < < < < < < < <
F N% Z muw x FL v =0.01 0.001 < < < < < < < < < < < < < < <
KY 7 B oo o F L v =<0.01 0.001 < < < < < < < < < < < < < < <
~ 2 + v =<0.01 0.001 < < < < < < < < < < < < < < <
H ES 23 =0.6 0.06 — — < < — < — — < < — < < < <
3 A =0.02 0.002 = == < == = < = == < == = < < < <
s m wm K N A =0.06 0.001 0.002 0.003 0.006 0.006 0.007 0.006 0.004 0.003 0.003 0.002 0.001 0.002 0.007 0.001 0.004
Y 7 uv v ¥ B =0.03 0.002 — — 0.002 — — 0.002 — — < — — < 0.002 < <
Y 7 m ® s uowu AL v =0.1 0.001 0.002 0.001 0.002 0.002 0.003 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.003 0.001 0.002
= ES 3 =0.01 0.001 — — < < — < — — < < -— < < < <
-3 NI RN S S Y =0.1 0.002 0.006 0.006 0.012 0.012 0.015 0.012 0.009 0.008 0.008 0.006 0.005 0.006 0.015 0.005 0.009
Y 7 B B OB =0.03 0.002 — — 0.004 — — 0.005 — — < — — < 0.005 < 0.002
. 7 m ® ¥ s owoum A H v =0.03 0.001 0.002 0.002 0.004 0.004 0.005 0.004 0.003 0.003 0.003 0.002 0.002 0.002 0.005 0.002 0.003
* 7 v E K L A =<0.09 0.001 < < < < < < < < < < < < < < <
A v A T L F B R =0.08 0.005 -— — < — — < — — < — — < < < <
o kK 2 ot A& DY =1.0 0.01 < < < < < < < < < < < < < < <
TNVI=UAKOZOIAEY =0.2 0.01 < < 0.02 0.01 0.02 0.02 0.02 0.01 < < < < 0.02 < <
% kK O £ o & & B =0.3 0.01 < < < < < < < < < < < < < < <
Ml Kk O o b A& B =1.0 0.01 < < < < < < < < < < < < < < <
FThrRIDAR UV ZOWHAED =200 0.1 4.9 5.1 5.0 5.1 5.3 5.2 5.4 5.3 5.7 5.5 5.4 5.2 5.7 4.9 5.3
H|~YyH o O Zofdad D =0.05 0.005 < < < < < < < < < < < < < < <
W ot ®m 14 F v =200 0.1 5.4 5.1 5.4 5.3 5.2 5.0 5.2 4.9 5.8 5.6 5.6 5.4 5.8 4.9 5.3
HNT T BT R N JE ) =300 1 33 33 32 33 35 35 38 35 36 35 36 34 38 32 35
K % 7% # L7} =500 1 54 58 58 53 65 64 61 61 61 58 62 55 65 53 59
e 4 4 > Bom i A =0.2 0.02 -— — < — — < — — < — — < < < <
Y = F A I v =<0.00001 | 0.000001 < < < < < < < < < < < < < < <
- AF NV A Y AL FF — | £0.00001 [ 0.000001 < < < < < < < < < < < < < < <
H A A v R omE E A =0.02 0.005 — — < — — < — — < — — < < < <
7 = J — L H =0.005 0.0005 — — < — — < — — < — — < < < <
Y% (& A R ETOC &) =3 0.2 < < 0.3 0.2 0.2 0.2 0.2 < < < < < 0.3 < <
pH it 5.8~8.6 7.4 7.3 7.5 7.4 7.5 7.5 7.6 7.4 7.3 7.3 7.3 7.3 7.6 7.3 7.4
S HETROD Bl | BEaL | BEAeL | BEel | BEAL | BEAL | BEARL | BEARL | BEARL | BEAel | BElel | BEL
= kS HHE TR AL | BEaL ) BERL | BEARL | BEARL | BEAL | BEARL | BEARL | BERL | BERL | BEeL | BEL
&) EOC E ) =5 0.5 < < < < < < < < < < < < < < <
) o E ) =2 0.2 < < < < < < < < < < < < < < <
7% % i ES =0.1 0.1 0.2 0.2 0.2 0.3 0.2 0.2 0.3 0.3 0.3 0.3 0.2 0.2 0.3 0.2 0.2
"ot A 1% )
AL RO B et g UH—EF  Nod




I/ NPHERT ONPEACR 17H FE LK) A FNTCAE
B H g KBS FBRAE 4730 5H7H 6 10H 7H8H 81 13H 9H9H 10H7H 1150 12/19H LHTH 2 12H 3H9H jEoN /Ml P
X " C ) 11.2 17.0 22.3 23.5 28.9 27.6 24.5 19.4 13.3 16.6 9.4 11.1 28.9 9.4 18.7
— & M W (E % /m) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
W il AR ARt AR R AR R AR R AR R AR R AR
ARITAKEOZEDONAED =0.003 0.0003 < < < < < < < < < < < < < < <
K E O 2 0o bt & P =0.0005 0.00005 — — < — — < — — < — — < < < <
tLr vy kOO AED =0.01 0.001 < < < < < < < < < < < < < < <
h kK O £ o b & B =0.01 0.001 < < < < < < < < < < < < < < <
x E #E K O E O LAY =0.01 0.001 < < < < < < < < < < < < < < <
AN fli 7 v A &b A& B =0.05 0.001 < < < < < < < < < < < < < < <
o M o = & =0.04 0.004 < < < < < < < < < < < < < < <
VT UE A A v R O Y 7| =0.01 0.001 — — < — — < — — < — — < < < <
3 EE ARG ST =10 0.02 0.44 0.47 0.38 0.44 0.37 0.47 0.41 0.46 0.50 0.54 0.51 0.48 0.54 0.37 0.46
7 v E E B®E 0L AED =0.8 0.05 < < < < < < < < < < < < < < <
AU FE K O®EOMLAED 1.0 0.1 < < < < < < < < < < < < < < <
] bo 1t R ES =0.002 0.0002 < < < < < < < < < < < < < < <
H 4= v F * ¥ v =0.05 0.005 < < < < < < < < < < < < < < <
LAl 2-vrmzFLL KONy A1 2-vsmazFiy| 0,04 0.004 < < < < < < < < < < < < < < <
Y s/ wm o om X K v =0.02 0.001 < < < < < < < < < < < < < < <
F N% Z muw x FL v =0.01 0.001 < < < < < < < < < < < < < < <
KY 7 B oo o F L v =0.01 0.001 < < < < < < < < < < < < < < <
~ 2 + v =<0.01 0.001 < < < < < < < < < < < < < < <
H ES 23 =0.6 0.06 — — < < — < — — < < — < < < <
3 A =0.02 0.002 = == < == = < = == < == = < < < <
s m wm K N A =0.06 0.001 0.003 0.003 0.007 0.007 0.008 0.008 0.005 0.004 0.003 0.002 0.002 0.002 0.008 0.002 0.004
Yy 7 m o [ B =0.03 0.002 — — < — — < — — < — — < < < <
Y 7 m ® s uowu AL v =0.1 0.001 0.002 0.002 0.003 0.003 0.004 0.003 0.003 0.003 0.002 0.002 0.002 0.002 0.004 0.002 0.002
= ES 3 =0.01 0.001 — — < < — < — — < < -— < < < <
-3 NI RN S S Y =0.1 0.002 0.008 0.007 0.015 0.014 0.017 0.016 0.012 0.011 0.008 0.006 0.006 0.006 0.017 0.006 0.011
N YU o m o om R =0.03 0.002 — — 0.005 — — 0.005 — — < — — < 0.005 < 0.002
. 7 m ® ¥ s owoum A H v =0.03 0.001 0.003 0.002 0.005 0.004 0.005 0.005 0.004 0.004 0.003 0.002 0.002 0.002 0.005 0.002 0.003
* 7 v E K L A =<0.09 0.001 < < < < < < < < < < < < < < <
A v A T L F B R =0.08 0.005 — — < — — < — — < — — < < < <
o kK 2 ot A& DY =1.0 0.01 < < < < < < < < < < < < < < <
TNAHNIZU LR OZOED =0.2 0.01 < < 0.01 0.01 0.02 0.02 0.02 0.01 < < < < 0.02 < <
% kK O = o b A& B =0.3 0.01 0.01 < < < < < < < < < 0.01 < 0.01 < <
Ml Kk O o b A& B =1.0 0.01 < < < < < < < < < < < < < < <
FThrRIDAR UV ZOWHAED =200 0.1 4.8 5.1 5.1 5.2 5.3 5.2 5.4 5.3 5.7 5.4 5.4 5.2 5.7 4.8 5.3
H|~YyH o O Zofdad D =0.05 0.005 < < < < < < < < < < < < < < <
W ot ®m 14 F v =200 0.1 5.3 5.1 5.5 5.4 5.2 5.0 5.2 5.0 5.7 15 5.5 5.3 5.7 5.0 5.3
HNT T BT R N JE ) =300 1 33 34 34 35 36 36 38 37 38 37 37 35 38 33 36
K % 23 # L7} =500 1 55 61 60 57 66 64 62 64 66 57 62 58 66 55 61
e 4 4 > Bom i A =0.2 0.02 -— — < — — < — — < — — < < < <
Y = F A I v =<0.00001 | 0.000001 < < < < < < < < < < < < < < <
2- A F L A4 Y KR )L F A — | £0.00001 | 0.000001 < < < < < < < < < < < < < < <
H A A v R omE E A =0.02 0.005 — — < — — < — — < — — < < < <
7 = J — L H =0.005 0.0005 — — < — — < — — < — — < < < <
Y% (& A R ETOC &) =3 0.2 < < 0.2 0.2 0.2 0.2 0.2 < < < < < 0.2 < <
pH fil 5.8~8.6 7.4 7.3 7.5 7.5 7.5 7.5 7.5 7.4 7.4 7.4 7.3 7.3 7.5 7.3 7.4
S HETROD Bl | BEaL | BEAeL | BEel | BEAL | BEAL | BEARL | BEARL | BEARL | BEAel | BElel | BEL
= kS HHE TR AL | BEaL ) BERL | BEARL | BEARL | BEAL | BEARL | BEARL | BERL | BERL | BEeL | BEL
&) EOC E ) =5 0.5 < < < < < < < < < < < < < < <
) o E ) =2 0.2 < < < < < < < < < < < < < < <
7% % i ES =0.1 0.1 0.2 0.2 0.2 0.2 0.3 0.2 0.2 0.3 0.2 0.2 0.2 0.2 0.3 0.2 0.2

TR T IR, IR R AR KT,

AL, FEHROZROIRY mg/18§ 2,

/N No.10




A EmEy (HBEAR HEIRBALKHL) AT
B H g KBS FBRAE 4730 5H7H 6 10H 7H8H 81 13H 9H9H 10H7H 1150 12/19H LHTH 2 12H 3H9H jEoN /Ml P
X " C ) 10.6 17.6 23.2 25.4 31.2 28.7 25.5 20.2 14.1 11.1 9.4 11.0 31.2 9.4 19.0
— & M W (E % /m) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
W il AR ARt AR R AR R AR R AR R AR R AR
ARITAKEOZEDONAED =0.003 0.0003 < < < < < < < < < < < < < < <
K E O 2 0o bt & P =0.0005 0.00005 — — < — — < — — < — — < < < <
tLr vy kOO AED =0.01 0.001 < < < < < < < < < < < < < < <
h kK O £ o b & B =0.01 0.001 < < < < < < < < < < < < < < <
x E #E K O E O LAY =0.01 0.001 < < < < < < < < < < < < < < <
AN fli 7 v A &b A& B =0.05 0.001 < < < < < < < < < < < < < < <
o M o = & =0.04 0.004 < < < < < < < < < < < < < < <
VT A A R ORI T | =001 0.001 — — < — — < — — < — — < < < <
3 EE ARG ST =10 0.02 0.69 0.63 0.65 0.64 0.58 0.62 0.58 0.62 0.69 0.76 1.01 1.05 1.05 0.58 0.71
7 v E E B®E 0L AED =0.8 0.05 < < < < < < < < < < < < < < <
AU FE K O®EOMLAED 1.0 0.1 < < < < < < < < < < < < < < <
] bo 1t R ES =0.002 0.0002 < < < < < < < < < < < < < < <
H 4= v F * ¥ v =0.05 0.005 < < < < < < < < < < < < < < <
LAl 2-vrmzFLL KONy A1 2-vsmazFiy| 0,04 0.004 < < < < < < < < < < < < < < <
Y s/ wm o om X K v =0.02 0.001 < < < < < < < < < < < < < < <
F N% Z muw x FL v =0.01 0.001 < < < < < < < < < < < < < < <
KY 7 B oo o F L v =0.01 0.001 < < < < < < < < < < < < < < <
~ 2 + v =<0.01 0.001 < < < < < < < < < < < < < < <
H ES 23 =0.6 0.06 — — < < — < — — < < — < < < <
> 7 s S 3 =0.02 0.002 = = < = = < = = < = i < < < <
s m wm K N A =0.06 0.001 < < < < < 0.002 < < < < < < 0.002 < <
Yy 7 m o [ B =0.03 0.002 — — < — — < — — < — — < < < <
Y 7 m ® s uowu AL v =0.1 0.001 < < < < 0.001 0.002 < < < < < < 0.002 < <
= ES 3 =0.01 0.001 — — < < — < — — < < -— < < < <
-3 NI RN S S Y =0.1 0.002 < < < < < 0.006 < < < < < < 0.006 < <
N YU o m o om R =0.03 0.002 — — < — — < — — < — — < < < <
. 7 m ® ¥ s owoum A H v =0.03 0.001 < < < < < 0.002 < < < < < < 0.002 < <
* 7 v E K L A =<0.09 0.001 < < < < < < < < < < < < < < <
A v A T L F B R =0.08 0.005 — — < — — < — — < — — < < < <
o kK 2 ot A& DY =1.0 0.01 < < < < < < < < < < < < < < <
TNAHNIZU LR OZOED =0.2 0.01 < < < < < < < < < < < < < < <
% kK O £ o & & B =0.3 0.01 < < < < < < < < < < < < < < <
ok O = o b A& W =1.0 0.01 < < < < < < 0.01 < < < < < 0.01 < <
FThrRIDAR UV ZOWHAED =200 0.1 6.7 6.5 6.7 6.7 7.1 6.7 7.2 7.4 7.5 7.5 7.3 7.3 7.5 6.5 7.1
H|~YyH o O Zofdad D =0.05 0.005 < < < < < < < < < < < < < < <
W ot ®m 14 F v =200 0.1 6.9 6.6 7.1 7.1 6.7 6.4 6.2 6.2 6.1 6.3 6.6 6.9 7.1 6.1 6.6
HNT TN T IRy NE(H ) =300 1 43 42 43 46 49 47 55 54 51 51 53 50 55 42 49
& % 7% # L7} =500 1 70 74 78 74 84 82 82 84 80 80 78 77 84 70 79
e 4 4 > Bom i A =0.2 0.02 -— — < — — < — — < — — < < < <
Y = F A I v =<0.00001 | 0.000001 < < < < < < < < < < < < < < <
2- A F L A4 Y KR )L F A — | £0.00001 | 0.000001 < < < < < < < < < < < < < < <
H A A v R omE E A =0.02 0.005 — — < — — < — — < — — < < < <
7 = J — L H =0.005 0.0005 — — < — — < — — < — — < < < <
Y% (& A R ETOC &) =3 0.2 < < < < < < < < < < < < < < <
pH fil 5.8~8.6 6.9 6.9 6.9 6.9 6.9 6.9 6.8 6.8 6.8 6.9 6.8 6.8 6.9 6.8 6.9
S HETROD Bl | BEaL | BEAeL | BEel | BEAL | BEAL | BEARL | BEARL | BEARL | BEAel | BElel | BEL
= kS HHE TR AL | BEaL ) BERL | BEARL | BEARL | BEAL | BEARL | BEARL | BERL | BERL | BEeL | BEL
&) EOC E ) =5 0.5 < < < < < < < < < < < < < < <
) o E ) =2 0.2 < < < < < < < < < < < < < < <
7% % i ES =0.1 0.1 0.3 0.3 0.3 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.3 0.3 0.3 0.2 0.2

TR BRAEAGR TR R A AR T,
B, FEARORVIRY mg/1£7° %,

()M No.ll




@I =0 (EREACR  PHThl KM AR AR e
B H g KBS FBRAE 4730 5H7H 6J110H 7H8H 81 13H 9H9H 10H7H 1150 12/19H LHTH 2 12H 3H9H jEoN /Ml P
X " C ) 11.2 15.5 21.2 23.3 27.9 26.6 24.7 19.9 14.4 11.4 9.6 10.5 217.9 9.6 18.0
— & M W (E % /m) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
K W il AR ARt AR R AR R AR R AR R AR R AR
ARITAKEOZEDONAED =0.003 0.0003 < < < < < < < < < < < < < < <
K E O 2 0o bt & P =0.0005 0.00005 — — < — — < — — < — — < < < <
tLr vy kOO AED =0.01 0.001 < < < < < < < < < < < < < < <
h kK O £ o b & B =0.01 0.001 < < < < < < < < < < < < < < <
x E #E K O E O LAY =0.01 0.001 < < < < < < < < < < < < < < <
AN fli 7 v A &b A& B =0.05 0.001 < < < < < < < < < < < < < < <
o M o = & =0.04 0.004 < < < < < < < < < < < < < < <
VT A A R ORI T | =001 0.001 — — < — — < — — < — — < < < <
3 EE ARG ST =10 0.02 0.70 0.65 0.65 0.64 0.58 0.64 0.58 0.61 0.68 0.73 1.01 1.05 1.05 0.58 0.71
7 v E E B®E 0L AED =0.8 0.05 < < < < < < < < < < < < < < <
AU FE K O®EOMLAED 1.0 0.1 < < < < < < < < < < < < < < <
] bo 1t R ES =0.002 0.0002 < < < < < < < < < < < < < < <
H 4= v F * ¥ v =0.05 0.005 < < < < < < < < < < < < < < <
LAl 2-vrmzFLL KONy A1 2-vsmazFiy| 0,04 0.004 < < < < < < < < < < < < < < <
Y s/ wm o om X K v =0.02 0.001 < < < < < < < < < < < < < < <
F N% Z muw x FL v =0.01 0.001 < < < < < < < < < < < < < < <
KY 7 B oo o F L v =<0.01 0.001 < < < < < < < < < < < < < < <
~ 2 + v =<0.01 0.001 < < < < < < < < < < < < < < <
H ES 23 =0.6 0.06 — — < < — < — — < < — < < < <
> 7 s S 3 =0.02 0.002 = = < = = < = = < = i < < < <
s m wm K N A =0.06 0.001 < < < 0.001 0.001 0.002 < < < < < < 0.002 < <
Yy 7 m o [ B =0.03 0.002 — — < — — < — — < — — < < < <
Y 7 m ® s uowu AL v =0.1 0.001 < < 0.001 0.001 0.002 0.002 0.001 0.001 0.001 < < < 0.002 < <
= ES 3 =0.01 0.001 — — < < — < — — < < -— < < < <
-3 NI RN S S Y =0.1 0.002 < < 0.002 0.003 0.004 0.006 < < < < < < 0.006 < <
Y 7 B B OB =0.03 0.002 — — < — — < — — < — — < < < <
. 7 m ® ¥ s owoum A H v =0.03 0.001 < < 0.001 0.001 0.001 0.002 < < < < < < 0.002 < <
* 7 v E K L A =<0.09 0.001 < < < < < < < < < < < < < < <
A v A T L F B R =0.08 0.005 -— — < — — < — — < — — < < < <
o kK 2 ot A& DY =1.0 0.01 < < < < < < < < < < < < < < <
TNAHNIZU LR OZOED =0.2 0.01 < < < < < < < < < < < < < < <
% kE O = o { & B <0.3 0.01 0.01 0.01 0.02 0.02 0.01 0.02 0.02 0.01 0.02 0.02 0.01 0.02 0.02 0.01 0.02
Ml Kk O o b A& B =1.0 0.01 < < < < < < < < < < < < < < <
FThrRIDAR UV ZOWHAED =200 0.1 6.7 6.7 6.7 6.7 7.1 6.7 7.2 7.4 7.5 7.5 7.4 7.3 7.5 6.7 7.1
H|~YyH o O Zofdad D =0.05 0.005 < < < < < < < < < < < < < < <
W ot ®m 14 F v =200 0.1 6.9 6.8 7.1 7.1 6.7 6.4 6.2 6.2 6.4 6.3 6.7 6.9 7.1 6.2 6.6
HNT TN T IRy NE(H ) =300 1 44 43 43 45 49 47 55 54 52 52 54 51 55 43 49
& % 7% # L7} =500 1 74 76 78 76 83 81 84 86 80 82 80 74 86 74 80
e 4 4 > Bom i A =0.2 0.02 -— — < — — < — — < — — < < < <
Y = F A I v =<0.00001 | 0.000001 < < < < < < < < < < < < < < <
- AF NV A Y AL FF — | £0.00001 [ 0.000001 < < < < < < < < < < < < < < <
H A A v R omE E A =0.02 0.005 — — < — — < — — < — — < < < <
7 = J — L H =0.005 0.0005 — — < — — < — — < — — < < < <
Y% (& A R ETOC &) =3 0.2 < < < < < < < < < < < < < < <
pH it 5.8~8.6 7.1 7.1 7.2 7.2 7.2 7.3 7.1 7.0 7.0 7.1 7.0 7.0 7.3 7.0 7.1
S HETROD Bl | BEaL | BEAeL | BEel | BEAL | BEAL | BEARL | BEARL | BEARL | BEAel | BElel | BEL
= kS HHE TR AL | BEaL ) BERL | BEARL | BEARL | BEAL | BEARL | BEARL | BERL | BERL | BEeL | BEL
&) EOC E ) =5 0.5 < < < < < < < < < < < < < < <
) o E ) =2 0.2 < < < < < < < < < < < < < < <
7% % i ES =0.1 0.1 0.1 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.3 0.3 0.3 0.1 0.2
"ot A 1% ) B
AL RO B et g UPW=r  No.12




WATEART  (ERAR FEREKH) S
B H g KBS FBRAE 4730 5H7H 6J110H 7H8H 81 13H 9H9H 10H7H 1150 12/19H LHTH 2 12H 3H9H jEoN /Ml P
X " C ) 11.2 16.0 21.6 22.0 26.8 24.8 23.9 18.9 13.3 10.4 9.5 10.4 26.8 9.5 17.4
— & M W (E % /m) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
K W il AR ARt AR R AR R AR R AR R AR R AR
ARITAKEOZEDONAED =0.003 0.0003 < < < < < < < < < < < < < < <
K E O 2 0o bt & P =0.0005 0.00005 — — < — — < — — < — — < < < <
tLr vy kOO AED =0.01 0.001 < < < < < < < < < < < < < < <
h kK O £ o b & B =0.01 0.001 < < < < < < < < < < < < < < <
x E #E K O E O LAY =0.01 0.001 < < < < < < < < < < < < < < <
AN fli 7 v A &b A& B =0.05 0.001 < < < < < < < < < < < < < < <
o M o = & =0.04 0.004 < < < < < < < < < < < < < < <
VT UE A A v R O Y 7| =0.01 0.001 — — < — — < — — < — — < < < <
3 EE ARG ST =10 0.02 0.46 0.46 0.38 0.43 0.41 0.50 0.38 0.56 0.51 0.60 0.64 0.58 0.64 0.38 0.49
7 v E E B®E 0L AED =0.8 0.05 < < < < < < < < < < < < < < <
AU FE K O®EOMLAED 1.0 0.1 < < < < < < < < < < < < < < <
] bo 1t R ES =0.002 0.0002 < < < < < < < < < < < < < < <
H 4= v F * ¥ v =0.05 0.005 < < < < < < < < < < < < < < <
LAl 2-vrmzFLL KONy A1 2-vsmazFiy| 0,04 0.004 < < < < < < < < < < < < < < <
Y s/ wm o om X K v =0.02 0.001 < < < < < < < < < < < < < < <
F N% Z muw x FL v =0.01 0.001 < < < < < < < < < < < < < < <
KY 7 B oo o F L v =<0.01 0.001 < < < < < < < < < < < < < < <
~ 2 + v =<0.01 0.001 < < < < < < < < < < < < < < <
H ES 23 =0.6 0.06 — — < < — < — — < < — < < < <
> 7 s S 3 =0.02 0.002 = = < = = < = = < = i < < < <
s m wm K N A =0.06 0.001 0.001 0.001 0.003 0.003 0.004 0.004 0.002 0.002 0.002 < < < 0.004 < 0.002
Yy 7 m o [ B =0.03 0.002 — — < — — < — — < — — < < < <
Y 7 m ® s uowu AL v =0.1 0.001 0.001 0.001 0.002 0.002 0.003 0.002 0.002 0.002 0.002 0.001 0.001 0.001 0.003 0.001 0.002
= ES 3 =0.01 0.001 — — < < — < — — < < -— < < < <
-3 NI RN S S Y =0.1 0.002 0.003 0.003 0.008 0.007 0.010 0.009 0.006 0.006 0.006 0.002 0.002 0.002 0.010 0.002 0.005
Y 7 B B OB =0.03 0.002 — — 0.002 — — 0.003 — — < — — < 0.003 < <
. 7 m ® ¥ s owoum A H v =0.03 0.001 0.001 0.001 0.003 0.002 0.003 0.003 0.002 0.002 0.002 0.001 0.001 0.001 0.003 0.001 0.002
* 7 v E K L A =<0.09 0.001 < < < < < < < < < < < < < < <
A v A T L F B R =0.08 0.005 — — < — — < — — < — — < < < <
o kK O 2 o bt & ¥ =1.0 0.01 < < < < < < < < 0.01 0.01 < < 0.01 < <
TNVI=UAKOZOIAEY =0.2 0.01 < < < < 0.01 0.01 0.01 < < < < < 0.01 < <
% kK O £ o & & B =0.3 0.01 < < < < < < < < < < < < < < <
Ml Kk O o b A& B =1.0 0.01 < < < < < < < < < < < < < < <
FThrRIDAR UV ZOWHAED =200 0.1 5.3 5.4 5.5 5.8 6.2 6.3 6.4 6.5 6.5 6.2 6.1 5.7 6.5 5.3 6.0
H|~YyH o O Zofdad D =0.05 0.005 < < < < < < < < < < < < < < <
W ot ®m 14 F v =200 0.1 6.0 5.8 6.0 6.1 5.8 5.7 5.6 5.4 5.9 6.0 6.3 6.2 6.3 5.4 5.9
HNT TN T IRy NE(H ) =300 1 36 38 40 44 46 47 48 47 43 41 41 38 48 36 42
& % 7% # L7} =500 1 59 68 60 75 82 78 80 76 72 68 60 61 82 59 70
e 4 4 > Bom i A =0.2 0.02 -— — < — — < — — < — — < < < <
Y = F A I v =<0.00001 | 0.000001 < < < < < < < < < < < < < < <
- A F N AV K L x A — L[ £0.00001 | 0.000001 < < < < < < < < < < < < < < <
H A A v R omE E A =0.02 0.005 — — < — — < — — < — — < < < <
7 = J — L H =0.005 0.0005 — — < — — < — — < — — < < < <
Y% (& A R ETOC &) =3 0.2 < < < < < < < < < < < < < < <
pH it 5.8~8.6 7.2 7.2 7.4 7.3 7.2 7.2 7.3 7.2 7.1 7.2 7.0 7.1 7.4 7.0 7.2
S HETROD Bl | BEaL | BEAeL | BEel | BEAL | BEAL | BEARL | BEARL | BEARL | BEAel | BElel | BEL
= kS HHE TR AL | BEaL ) BERL | BEARL | BEARL | BEAL | BEARL | BEARL | BERL | BERL | BEeL | BEL
&) EOC E ) =5 0.5 < < < < < < < < < < < < < < <
) o E ) =2 0.2 < < < < < < < < < < < < < < <
7% % i ES =0.1 0.1 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.3 0.3 0.3 0.2 0.2

TR BRAEAGR TR R A AR T,
B, FEARORVIRY mg/1£7° %,

(])fEfi - No.13




FIFHIARET  (REPIKR ARGk i) AT
B H g KBS FBRAE 4730 5H7H 6 10H 7H8H 8H13H 9H9H 10H7H 1150 12/19H LHTH 2 12H 3H9H jEoN /Ml P
X " C ) 11.1 15.4 19.9 22.3 28.0 26.7 25.1 19.6 14.0 11.0 9.1 10.8 28.0 9.1 17.8
— & M W (E % /m) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
K W il AR ARt At AR AR A AR A AR AR AR AR AR
ARITAKEOZEDONAED =0.003 0.0003 < < < < < < < < < < < < < < <
K E O 2 0o bt & P =0.0005 0.00005 — — < — — < — — < — — < < < <
tLr vy kOO AED =0.01 0.001 < < < < < < < < < < < < < < <
h kK O £ o b & B =0.01 0.001 < < < < < < < < < < < < < < <
" vt E K O 0 kA& Y =0.01 0.001 < < < < < < < < < < < < < < <
AN fli 7 v A &b A& B =0.05 0.001 < < < < < < < < < < < < < < <
o M o = & =0.04 0.004 < < < < < < < < < < < < < < <
VT UE A A v R O Y 7| =0.01 0.001 — — < — — < — — < — — < < < <
3 EE ARG ST =10 0.02 0.35 0.26 0.31 0.31 0.21 0.39 0.62 0.41 0.69 0.61 0.44 0.40 0.69 0.21 0.42
7 v E E B®E 0L AED =0.8 0.05 < < < < 0.06 < < < < < < < 0.06 < <
AU FE K O®EOMLAED 1.0 0.1 < < < < < < < < < < < < < < <
] bo 1t R ES =0.002 0.0002 < < < < < < < < < < < < < < <
H 4= v F * ¥ v =0.05 0.005 < < < < < < < < < < < < < < <
LAl 2-vrmzFLL KONy A1 2-vsmazFiy| 0,04 0.004 < < < < < < < < < < < < < < <
Y s/ wm o om X K v =0.02 0.001 < < < < < < < < < < < < < < <
F N% Z muw x FL v =0.01 0.001 < < < < < < < < < < < < < < <
KY 7 B oo o F L v =<0.01 0.001 < < < < < < < < < < < < < < <
~ 2 + v =<0.01 0.001 < < < < < < < < < < < < < < <
H ES 23 =0.6 0.06 — — < < — < — — < < — < < < <
3 A =0.02 0.002 = == < == = < = == < == = < < < <
s m wm K N A =0.06 0.001 0.003 0.006 0.016 0.009 0.007 0.004 0.011 0.002 0.002 0.003 0.002 0.002 0.016 0.002 0.006
Yy 7 m o [ B =0.03 0.002 — — 0.002 — — < — — < — — < 0.002 < <
Y 7 m ® s uowu AL v =0.1 0.001 0.001 0.001 0.001 0.002 0.004 0.002 0.001 0.001 0.002 0.002 0.002 0.002 0.004 0.001 0.002
= ES 3 =0.01 0.001 — — < < — < — — < < -— < < < <
-3 NI RN S S Y =0.1 0.002 0.007 0.011 0.022 0.016 0.016 0.009 0.016 0.005 0.007 0.008 0.006 0.006 0.022 0.005 0.011
Y 7 B B OB =0.03 0.002 — — 0.012 — — < — — < — — < 0.012 < 0.003
. 7 m ® ¥ s owoum A H v =0.03 0.001 0.003 0.004 0.005 0.005 0.005 0.003 0.004 0.002 0.003 0.003 0.002 0.002 0.005 0.002 0.003
* 7 v E K L A =<0.09 0.001 < < < < < < < < < < < < < < <
A v A T L F B R =0.08 0.005 — — < — — < — — < — — < < < <
o kK 2 ot A& DY =1.0 0.01 < < < < < < < < < < < < < < <
TAI=ZU LR OBZDOIAED =0.2 0.01 0.01 0.02 0.02 0.03 0.03 0.03 0.03 0.01 0.01 < < < 0.03 < 0.02
% kK O £ o & & B =0.3 0.01 < < < < < < < < < < < < < < <
Ml Kk O o b A& B =1.0 0.01 < < < < < < < < < < < < < < <
FTRrRIVARUCZDOHED =200 0.1 6.1 6.4 7.3 7.1 9.5 8.4 7.8 7.6 6.8 6.5 6.9 6.6 9.5 6.1 7.3
H|~YyH o O Zofdad D =0.05 0.005 < < < < < < < < < < < < < < <
W ot ®m 14 F v =200 0.1 7.6 7.1 7.6 7.3 7.9 7.5 7.6 7.0 7.9 8.0 8.6 7.9 8.6 7.0 7.7
HNT TN T IRy NE(H ) =300 1 23 25 29 28 33 32 35 31 27 24 28 26 35 23 28
& B b3 I L] =500 1 40 52 47 62 72 68 71 59 55 44 44 43 72 40 55
e 4 4 > Bom i A =0.2 0.02 -— — < — — < — — < — — < < < <
Y = F A I v =0.00001 | 0.000001 < < < < < 0.000001 < 0.000003 < < < < 0.000003 < <
- A F N AV K L x A — L[ £0.00001 | 0.000001 < < < < < < < < < < < < < < <
H A A v R omE E A =0.02 0.005 — — < — — < — — < — — < < < <
7 = J — L H =0.005 0.0005 — — < — — < — — < — — < < < <
Y% (& A R ETOC &) <3 0.2 0.2 0.3 0.5 0.3 0.2 < 0.4 < < 0.2 < < 0.5 < <
pH it 5.8~8.6 7.4 7.6 7.7 7.7 8.1 8.1 7.9 7.6 7.4 7.4 7.3 7.3 8.1 7.3 7.6
S HETROD Bl | BEaL | BEAeL | BEel | BEAL | BEAL | BEARL | BEARL | BEARL | BEAel | BElel | BEL
= kS HHE TR AL | BEaL ) BERL | BEARL | BEARL | BEAL | BEARL | BEARL | BERL | BERL | BEeL | BEL
&) EOC E ) =5 0.5 < < < < < < < < < < < < < < <
) o E ) =2 0.2 < < < < < < < < < < < < < < <
7% 2 i ES =0.1 0.1 0.2 0.2 0.2 0.3 0.3 0.3 0.2 0.3 0.2 0.3 0.3 0.3 0.3 0.2 0.3

TR BRAEAGR TR R A AR T,
B, FEARORVIRY mg/1£7° %,

(FF)R#%  No.l4




WITERAT  (EFKR WAL ) AT
B H g KBS FBRAE 4730 5H7H 6 10H 7H8H 8H13H 9H9H 10H7H 1150 12/19H LHTH 2 12H 3H9H jEoN /Ml P
X " C ) 10.9 16.2 21.6 23.2 28.1 26.7 23.8 19.8 12.8 16.5 8.3 11.0 28.1 8.3 18.2
— & M W (E % /m) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
K W il AR ARt At AR AR A AR A AR AR AR AR AR
ARITAKEOZEDONAED =0.003 0.0003 < < < < < < < < < < < < < < <
K E O 2 0o bt & P =0.0005 0.00005 — — < — — < — — < — — < < < <
tLr vy kOO AED =0.01 0.001 < < < < < < < < < < < < < < <
h kK O £ o b & B =0.01 0.001 < < < < < < < < < < < < < < <
x E #E K O E O LAY =0.01 0.001 < < < < < < < < < < < < < < <
AN fli 7 v A &b A& B =0.05 0.001 < < < < < < < < < < < < < < <
o M o = & =0.04 0.004 < < < < < < < < < < < < < < <
VT UE A A v R O Y 7| =0.01 0.001 — — < — — < — — < — — < < < <
3 EE ARG ST =10 0.02 0.31 0.30 0.25 0.38 0.24 0.41 0.29 0.45 0.67 0.56 0.41 0.35 0.67 0.24 0.38
7 v E K X ZT 0Ok E Y =0.8 0.05 0.07 0.09 0.10 0.08 0.11 0.08 0.07 0.06 0.06 < 0.09 0.09 0.11 < 0.07
AU FE K O®EOMLAED 1.0 0.1 < < < < < < < < < < < < < < <
] bo 1t R ES =0.002 0.0002 < < < < < < < < < < < < < < <
H 4= v F * ¥ v =0.05 0.005 < < < < < < < < < < < < < < <
LAl 2-vrmzFLL KONy A1 2-vsmazFiy| 0,04 0.004 < < < < < < < < < < < < < < <
Y s/ wm o om X K v =0.02 0.001 < < < < < < < < < < < < < < <
F N% Z muw x FL v =0.01 0.001 < < < < < < < < < < < < < < <
KY 7 B oo o F L v =<0.01 0.001 < < < < < < < < < < < < < < <
~ 2 + v =<0.01 0.001 < < < < < < < < < < < < < < <
H ES 23 =0.6 0.06 — — < < — < — — < < — < < < <
> 7 s S 3 =0.02 0.002 = = < = = < = = < = = < < < <
s m wm K N A =0.06 0.001 0.003 0.006 0.008 0.010 0.005 0.006 0.004 0.003 0.005 0.004 0.002 0.003 0.010 0.002 0.005
Y 7 wBv v E B =0.03 0.002 — — < — — 0.003 — — < — = 0.002 0.003 < <
Y 7 m ® s uowu AL v =0.1 0.001 0.003 0.003 0.005 0.004 0.004 0.003 0.003 0.003 0.002 0.002 0.003 0.003 0.005 0.002 0.003
= ES 3 =0.01 0.001 — — < < — < — — < < — < < < <
-3 NI RN S S Y =0.1 0.002 0.009 0.014 0.021 0.021 0.015 0.013 0.010 0.009 0.011 0.010 0.008 0.009 0.021 0.008 0.013
Y 7 B B OB =0.03 0.002 — — 0.006 — — 0.003 — — 0.003 — = < 0.006 < 0.003
. 7 m ® ¥ s owoum A H v =0.03 0.001 0.003 0.005 0.007 0.007 0.005 0.004 0.003 0.003 0.004 0.004 0.003 0.003 0.007 0.003 0.004
* 7 v E K L A =<0.09 0.001 < < 0.001 < 0.001 < < < < < < < 0.001 < <
A v A T L F B R =0.08 0.005 — — < — — < — — < — — < < < <
o kK 2 ot A& DY =1.0 0.01 < < < < < < < < < < < < < < <
TNVI=UAKOZOIAEY =0.2 0.01 < 0.01 0.02 0.02 0.02 0.02 0.02 0.02 0.01 0.01 < < 0.02 < 0.01
% kK O £ o & & B =0.3 0.01 < < < < < < < < < < < < < < <
Ml Kk O o b A& B =1.0 0.01 < < < < < < < < < < < < < < <
FThrID AR OCZDONREDY =200 0.1 10.0 12.7 14.3 12.0 16.5 12.6 11.5 10.2 10.3 7.7 15.0 13.4 16.5 7.7 12.2
H|~YyH o O Zofdad D =0.05 0.005 < < < < < < < < < < < < < < <
Ot B 14 #F v =200 0.1 8.9 10.2 11.0 10.1 11.5 10.3 9.0 8.4 10.1 8.5 12.1 11.1 12.1 8.4 10.1
HNT TN T IRy NE(H ) =300 1 29 33 37 35 40 33 37 33 30 26 37 32 40 26 33
& % 23 # L7} =500 1 63 78 72 79 98 83 82 68 60 54 75 66 98 54 73
e 4 4 > Bom i A =0.2 0.02 -— — < — — < — — < — — < < < <
Y = F A I v =0.00001 | 0.000001 < < < < < 0.000001 | 0.000001 | 0.000002 < < < < 0.000002 < <
- A F N AV K L x A — L[ £0.00001 | 0.000001 < < < < < < < < < < < < < < <
H A A v R omE E A =0.02 0.005 — — < — — < — — < — — < < < <
7 = J — L H =0.005 0.0005 — — < — — < — — < — — < < < <
Y% (& A R ETOC &) <3 0.2 < 0.3 0.4 0.3 < 0.2 < < 0.3 0.3 < < 0.4 < <
pH fil 5.8~8.6 7.5 7.6 7.7 7.8 7.9 8.1 8.2 8.1 7.7 7.4 7.5 7.5 8.2 7.4 7.7
S HETROD Bl | BEaL | BEAeL | BEel | BEAL | BEAL | BEARL | BEARL | BEARL | BEAel | BElel | BEL
= kS HHE TR AL | BEaL ) BERL | BEARL | BEARL | BEAL | BEARL | BEARL | BERL | BERL | BEeL | BEL
&) EOC E ) =5 0.5 < < < < < < < < < < < < < < <
) o E ) =2 0.2 < < < < < < < < < < < < < < <
7% % i ES =0.1 0.1 0.3 0.2 0.2 0.3 0.2 0.3 0.3 0.3 0.2 0.2 0.3 0.2 0.3 0.2 0.3
ner o a— )
W SR e TR No.i5




